
ICS Part 1 English Chapter 6 Online Test

Sr Questions Answers Choice

1 Jorkens succeeded because he was.
A. An athlete
B. A determined person
C. A lucky man
D. A hard working man

2 What had Gorgios won at school
A. Prize
B. Race
C. Competition
D. High jump and hurdies

3 Who disagreed with Jorkens.
A. Hubert
B. Terbut
C. John
D. Gorgios

4 Which place had been turned into a kind of gymnasium for the inauguration ceremony.
A. Court
B. Public hall
C. Great throne room
D. Place

5 Who uttered a quiet sigh mouring over some lost ambition.
A. Hubert
B. Gorgios
C. Terbut
D. Jorkens

6 At what age Gorgios came by his wild ideas.
A. 14
B. 16
C. 18
D. 20

7 The man who keeps on wins
A. The reward
B. the race
C. The fight
D. The shield

8 Gentle applause broke out from every hand for Gorgios
A. Curse
B. Dislike
C. Clapping
D. Abuse

9 Gorgios made all the more melancholy by the tight fitting uniform
A. Gloom
B. Delight
C. Success
D. Failure

10 George wore down opposing arguments.
A. Put on
B. Over came gradually
C. Incited
D. Took off


